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Th. 1(000O0O)
k =k | ={fi,...,f;) C k[X,Y]
Is == 1NklY] V=V()

GDDDDDDV(IS)ZWS[V]
@DDDDDV#@DDDDDDDDDDDDD WQV[IS]
goOooon
(i) V(IS)\WQWS[V]

(ii) V(Is) \ W= V(ls)
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Th.2(00O0O0)

I Ck[X]=k[Xy,...,X,] 0 k[X]00000000000000
000000

Vih=0=1¢el (ie |=k[X])
n=10000 kOOOO000O0O0000000000 n00
000000000000000

FX)=cyY'+(MOO00D000 <NOO) (cy € kX)
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X=(X1,....Xn) T ={(tj)i<in<n € GLo(k) 0DDOOODODOO
Yy,...,Y,0DOOODODOO

Y1 X1

000000000 KY]CkX]0OO0D0DO0O0O7 00000
O0KX]=kY]OOOOOOPeA" 000000 a00000

{P}=V(X-a)
=V(T'Y —a)
= V(T YY - Ta))
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= V(Y - Ta)
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O000D00000YDOOOOO b=Ta=(by,...,b,) 00
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A" AL (by,..., by) — (bsy1, ..., bn)
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Lemma 3
kDDDDDDDfEk[X]\kDDDDDDDDDDDD
e X0O0O Y:(Yl,...,Y,,)DDDDDDDDDDDDDDDD

f=cYVN+(v,0O0OOO0ODO0 <NOO) (cekX)

ugooond

@U00k=kOOOOYDOOOOOO o :A" > AL
v(f)OOoOoO

7Tg rV(f): V(f) = An_l

000000000000 beA™l0OO
(¢ [V(f))_l[{b}] ooooooQ
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f:fN+f<N
0000 f£000 fw000000000000000

Xi=Y"

Xo=Yo+ 201
X3 =Y+ 2431
Xo=Yna+ 2, Y1
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f(X) = fN(Yl, Y + ZzYl,...,Yn +ZnY1) + f<N(Y1, Yo —I—Zgyl,.. .
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ooooono X, 00 vv 000000 g

oo
oooooo

g g

=(l,2,....Z,)YN+(M0O000000 <NOD)
(*)
0o00000oOoooon

0 # fv(Xe, -, Xn) = X fn(L, 52, -, 32)
000000004+~ Z00000000f(1,2,...,2Z,) 0 Z
0000000000000 0000000 k00000000
fu(l,c,...,cn) #0000 € k000000000000
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0000 Y=T7"1X00000000O (YYOooooooo

f=fl,c. . . c)Y'+MOODODOD0DOO <NOO)
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b...A™10000000F=f(Y,b)ekY]ODOOOOOOO
000000000000000

(71 1 V(F)) T [{b}] = V() x {b}
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00000000000 n00000000000000000
n=10000PIDO00 /=(f000000f=00000
V(0)=A"DD0000fekX]\kODOOODKkOOODOODO
00 fO00000D0D000000000OOO fek*0000
1e /0
(n—1)00000000000n0000000NGther 000
I=(f,...£)00000000000ARek*000 /=(1)0
00 OKODDDODOOODOD fekX]\kDODODOOOOOOO
00000000000 Y=TX0O

Ai=cYN+(MOODODOD <NDOO) (#)
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VI =T[V(N]=T@) =0 0000 (#) 00 LCy,(A) € k¥ O
goboooobobooooobuoooooboooooooo

V(i) =mi V()] = m[0] = 0

0000000000000000 1ehCiOOoOn
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Th. 4(0OOOO 1)
mCkX|0000000000000D000

Jay,...,ap € k [m=(X; —a1,..., X, — an)]

Proof.

mO0000000000001¢mO0000000000000O
00 V(m)#0 000000 (ay,...,a,) € V(m)0OOOOODO
000000 /=(X;—a,...,Xs—a,) 000000

V(1) = {(ay,...,an)} C V(m)
m CI(V(m)) C I(V(1))

0ooooooooonv()=I((a,...,a))=1000000
0D000000O0 1¢/000000mO00000C
m=/=(X;—ay...,. X, —a,) 0000 i



Lemma 5

fekX]\{0} /:kX]0O0D00 (I,1-f):kX,Y|OODOOO
gooooo

®rci

®1lec(l,1-fY)

(1) = @0

fevi=fNel=1=fNYNp(1+y+  +VLYyN-1)(1-fv)
(1)< @O01ec{(,1-f)0D0DO00O000g,...,gs€ /0
a,...,as,be k[X, Y] OODOODO

l=a1g1+ -+ asgs+ b(l—fY)

0000000000 Y—1/f00000K(X)000

S

1= 3 ai(X,1/F)gi(X) + 0

i=1
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Th. 6 (Hilbert's Nullstellensatz)

Proof.
Q)O V(= VKoo (V) =I(V(H/1) 21O 0KO

(©Oofel(V()DDODKX,Y]OOODO JOO

J = (L1=Y)x v

oooU0oOooooooovW)=0o000oUooUoooo

p=(a,b)e V(J)ODODODOOOO g€ (I)yxy S/ OO0
szODDDDDDgEIDDDg(ﬁ:()—ODDDD
000 acV(/))0D0O00000O f(a)=00000

(1-

0D00l-f/0 JODOODOODOOOO= Y)(p) =1—f(p)Y
0000000 f(p)£0000000000000000

0000 V(J)=¢O00000000000 1eJO00000O0O
D000 500 fe/IDOOOO |
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Th. 7(000O0)

V(Is) = ﬂ-S[V(I)]

000 V()] C V(L) OODDODODOO V(L) 0DDO00000
0000000 n[V()]CV(L)OOOODODODOOO0O0OO000d
00000000

ms[V(] = V(I(m[V(N]) OO V()= V() DODOOOD
I(m[V]) C v/, 0000000000000

ms[V] = V(I(ms[V]) 2 V(VE)= V() 00000000000
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fel(m[V]) DODODODO
Vp eV, f(ms(p)) =0

fO KX, Y]OODOOOOO f(p)=0000000
fel(V()=+I/0O- 0000000 O0OO0O0OODO0ODODOO
O3IN>0,fe10D0D0000FekX]DO0O00D0O fN € k[X]
0000000 fNelnkX]=4L,00O0DO00O fey/LODOOO
000000000 i
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Prop. 8 (0000 (s>1))

/:k[X,Y]0ODOOO G:/0X-0000000 Grébner00O
000 be V() OODOD

Vg € G\ k[Y],LCx(g) # 0

O0000000OObew[V]OOODO
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Lemma 9

G:X-000O0 >0000 /000 Grébner00 0000
be V() DODODO

Vg € G,LCx(g)=0=g=0

DDDDDDD@\{O}D lO00>0 XOOOoOoooooo
Grobner 00 OO OO
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S = LOx(h) gaa & — LCx(8) goamh 000000 D Y b
000 500000S(g,h 0 S00000000000000
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G={0}000 /=0000000
(ms I V)~ [{b}] = 1(0) x {b} = A" x {b}

000000000000
000 G#£{0}000000000

Vg € GNk[Y],g =g(b) =0

00000000 LCx(g)=0000 gekY]OOODOOO
000000000 900000000000 G\{0}0O /0O
Grébner 000000000 400000000000
g¢HﬂDDDDDDDDI@A)#ODDDDDDDD
E¢k*0000g00000000 (G\{O})Nk*=00000
7:HMDDDDDDGDkDDDDDDDDDDDDDD
DconsitencytheoremDDDD7Ck[X]DDDDDDDDDDDD
000 vV()#0000000 (s [ V) L[{b}] = V(I) x {b} # 0O
00000000 i
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